ERAABEEELT #w = GF
s W RE--Xo &t = X O B BN
266.19 + 14408 = 41027 41027 m3
FRIEY (L 8) BHIR FETRED
2158 + 4712 68.70 68.70 m3
BRLEEL) CCB R FETRED
1379 + = 1379 137.90 m3
1BRLED) BHIR
) 41027 — 6870 <+ 09 333.94 333.94 m3
EERZELNE
e —k 264.84 + 264.84 264.84 m
s —k W=400mm FHIR
264.84 + = 264.84 264.84 m
W=600mm FHR
+ - m
R T h=2.0m iR FEAED
+ 4248 42.48 42.48 m
h=2.5m FriR FETRED
+ 3064 30.64 30.64 m
h=3.0m iR A ED
LTFIE, ERRRIC
TitLEH 44976 -+ -84.84 534.60 534.60 m
7992 + = 7992 79.92 m
t=15em R FrBRER
22083 <+ -6029 = 28132 28112 2
HHEhRALR tem iR - BB
3924 + = 39.24 P2
+=5em =25 -
1073 + -316 = 1389 13.89 m3
HSU5 As 2 FFERED
SEH 22083 -+ -6029 = 28112 28112 m2
FEAR
HER 392 + = 392 3.92 m2
+=55em R




ENHEHEE (B EBEALYSE

T #=
e T BT T 1BEBAR T sk |0 T
. IE 9 ) 9 N — sl — =) ~ ~ .
it & %f EEr a1l SpifiREUE  HSAS  fEH BRL g —bk HEE A EHER _—
h=20 h=25 h=30 +4em t=5em  t=dem | t=5em As | FHAEL o) HAET W=400mm W=600mm t=19em +=55em
H (m) L) L) | L) | ) Y (m®) (m®) (m®) (m) (m) Lm®) Lem®)
[E4%]
2.000 0982 0.039 0.968 0.521 1.000 1.000 0.982
T1-1 224.88 44976 22083 877 217.68| 117.16 22488 22488 220.83
2.000 0982 0049 1214 0519 0540 1.000 1.000 0.982
T1-2 39.96 7992 3924 196 48.51 20.74 21.58 39.96 39.96 392
[E048] - - -
& 44976 7992 22083 3924, 1073 266.19| 137.90 21.58 264.84) 264.84 220.83 3.92
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: +1-1

40.71

4.60 90.00

7.16

x
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2 11
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TT-1

T2

TT-1

TT-2

49.57

[RI]
1

10.00

39.57

32.80

TT-1

T2

26.20

6.60

40.00

+1-1

40.00

T2

TT-1
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HET-1
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HMEHESE t1-1
HIEEB
Tm3yY
Yl | 2R
N T =N st STy
12400 [ 3
e A2V
= ~ R+
g g ”
—| o @@P — ©
Ok =
IO
)
201 582 200
982
FE7I HEFHE #HeE
Basx)
St LT e As-+=40 1.000-x2 = | —2000 m
&b up B i As-+=40 0-982x1.000 = | —0:882 m2
RS As+=40 0.982 x0.040 = | — 0039 m3
[+ 1)
1EHI 0.982 x 0.986 x 1.000 0.968 m3
BERL () (0.982 x 0.736-0.202) x 1.000 0.521 m3
$f% BDE(P200) 0216x0216X% /4% 1 =0.037
VP ¢ 150| 0.165%0.165X 71/4 % 1 =0.021
®75| 0.096 x0.096 % 71/4%2 =0.014
FEP®$100| 0.125%0.125%5 =0.078
FEP ¢ 130| 0.162%0.162 X 2 =0.052
Hi =0.202
BRLGEELE) 0.982 % 0.150-x-1.000 = m3
(RE%T)
+ & - = -m
I;:ﬁﬂi’gla T l
ENREIE SoESEE | 0.982x1.000 = | —H6882 m2
[1EE%BHRT] W=04 1.00 m
W=0.6 100 m




HMEHESE t1-2
HEER
Tm3yY
EH | BR
LO)|
Ol ©
Bl o
14k a
W=600 =]
3| 8
| P
=
.
[
200’ 582 200
982
FE7I HEFHE #E
Basx)
ERLE bR As+=50 1.000%2 = | —2000 =
EhaEhRER As+=50 0.982 % 1.000 =] _— 0982 m2
RS As+=50 0.982 x0.050 = | — 0049 m3
[+ 1)
1EHI 0.982 x 1.236 x 1.000 1214 m3
BERL () (0.982 x 0.734-0.202) x 1.000 0.519 m3
$f% BDE(P200) 0216x0216X% /4% 1 =0.037
VP ¢ 150| 0.165%0.165X 71/4 % 1 =0.021
¢ 75| 0.096 %0096 x 71/4%2 =0.014
FEP ¢ 100| 0.125%0.125%5 =0.078
FEP®130| 0.162x0.162%2 =0.052
Hi =0.202
HRL(REL) 0.982%0.55%1.00 = 0.540 m3
(RE%T)
+ 5 - = - m
I;:ﬁﬂi’gla T l
spirupsS N EEGEN 0.982 x1.000 = | _—0982 m2
[1EE%BHRT] W=04 1.00 m
W=0.6 1.00 m




AAT T8 HE T (As+=40) e A T BRL |HEEET BT
PiE Rl =1 15<H=20 | 20<H=25 | 25<H=30 ghat H4E+ H4E+ +=190 BELAL | HERA
(&) m m m m2 m3 m3 m2 m3 m3
FEORER T &Y 13.32 1332 8.93 20.98 7.43 893 0.092 0.537
1200 x 1800 x 3500 ? 26.64 26.64 1786 41.96 14.86 17.86 8 0.18 1.07
HRER I B BIEEMR 15.32 1532 10.79 29.24 10.97 1079 0.092 0.537
1200 x 1800 X 4500 ? 30.64 30.64 2158 58.48 21.94 2158 B 0.18 1.07
EHIH 11.72 H72 671 17.11 7.42 671 0.134 0.774
900 x 1800 X 3000 ) HE
BEHIE EL#E 15.84 1584 1414 34.65 10.44 1414 0.054 0.307
900 x 1100 x 1800 1 15.84 15.84 1414 34.65 10.44 14144 S8 0.05 0.31
BAIE EL#ER2E HI2 67+ 8.99 (0.12) 671 0.053 0.302
900 x 1100 x 3000 1 H72 671 8.99 (0.12) 671 HE 0.05 0.30
BACKER) 9.76 503 3.87 0.98 5.03 0.073 0.435
900 x 480 X 2200 ) HiE
1S it ,
500 x 1050 x 2000
T-A%> sk #t
400 x 380 x 1500 ’
a% 11 - 4248 30.64 84.84 60.29 144.08 4712 60.29 2.75




FERRER T A YE AT i EERATE | IR IRTR W
B Al - A=t E Eitm |aa+3| tBw2)  R3(L2) &(H2) V2 -

W L H t1 t2 t3(k) t4(F)  |ELELRE m m m m3 m3 | |
FETRER I Y 1.20 3.50 1.64 0.13 0.15 0.15 0.13 0.22 0.25 1.86 4.80 239 | 021648 | 1221 t1 t1
1200 x 1800 % 3500 BOXZE! ~
FEORER I B BIEEMRT 1.20 4.50 1.80 0.13 0.15 0.15 0.13 0.22 0.45 1.86 5.80 275 |0.38966 | 16.65 - B
1200 x 1800 X 4500 BOXZH!
EHIH 0.90 3.00 1.64 0.13 0.15 0.15 0.13 0.22 0.45 1.56 4.30 259 | 038966 | 8.68 L1
900 x 1800 x 3000 BOXZ!
BEHIE B EHSIHE 1.80 3.60 1.99 0.26 0.3 0.02 0.02 0.2 0.26 2.72 5.20 249 | 022513 | 22.09 2
900 x 1100 x 1800 BOXZ!
THIE B L5205 0.90 3.00 1.00 0.13 0.15 0.01 0.13 0.22 0.13 1.56 4.30 149 | 011257 | 542 /ﬁ[
900 X 1100 X 3000 BOXE! - fﬁﬁ/lr ‘ =
BHCEER) 0.90 2.20 0.57 0.09 0.1 0.02 0.02 0.1 0.1 1.48 3.40 0.81 02592 | 2.14
900 x 480 X 2200 UZ NT i Iy
BIS G m 0.50 2.00 0.11 0.11 0.1 0.02 0.02 0.15 0.40 1.00 0.15 | 02376 | 024
500 x 1050 x 2000 (§pid]
T-A% s 4 0.40 1.50 0.38 0.05 0.05 0.75 0.02 0.12 0.40 1.00 0.12 0.096 | 0.10 : - - %
400 x 380 x 1500 Sk} L2

op
Ei!
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(REY)

R-1
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#I:Ii

iz Al b3:) B {1 # = i
ERMET CCVP ¢ 130
m _
CCVP ¢ 100
m _
VP ¢ 100
m _
FEP ¢ 130
m 286.60
FEP ¢ 100
m 286.60
HAFAE VPE ¢ 150
m 281.12
PV ¢75
m 144.28
PV ¢50
m 5.80
BD ¢ 250
m _
BD ¢ 200
m 281.12
EE CCVP ¢ 130
m _
CCVP ¢ 100
m _
FEP ¢ 130
m 955.89
FEP ¢ 100
m 1,503.92
VP ¢ 100
m _
HAFAE VPE ¢ 150
m 196.79
PV ¢75
m 197.93
PV ¢50
m 4.06
BD ¢ 250
m _
BD ¢ 200
m 196.79
IPE 650
m 983.94
IOE ¢30
m 983.94
B & (R=5.0) CCVP ¢ 130
m _
CCVP ¢ 100
m _
VP ¢ 100
m _
HAFAE VPE ¢ 150
m 84.34
PV ¢75
m 84.83
PV ¢50
m 1.74
BD ¢ 250
m _
BD ¢ 200
m 84.34
RILFBEIEXO—2RAE | 0250
ﬂE —
¢ 200
& 12




fas T =
iz Al iR B ] = i
AS(KE ¢ 250
ﬂE —
¢ 200
& 6
BHRR)—T CCVP ¢ 130
ﬂil —
CCVP ¢ 100
L& -
VP ¢ 100
ﬂil _
HAFAE VPE ¢ 150
E] 12
PV ¢75
& 14
PV ¢50
& 2
BD ¢ 250
ﬂE —
BD ¢ 200
& 12
RILTHR FEP ¢ 130
& 46
FEP ¢ 100
LE] 70
=g CCVP ¢ 130
ﬂil _
CCVP ¢ 100
E] -
VP ¢ 100
@ _
HAFAE VPE ¢ 150
& 165
PV ¢75
& 330
PV ¢50
& 3
BD ¢ 250
ﬂE —
BD ¢ 200
LE] 330




ﬁ-’l:E ﬁléﬂﬁtgl KE 212
HER B IR (B N ERHERE)

EE i & (R=5.0) FOrRY—=T RILIIR (GE E;ET.?D* L
mES ZEE ECVP VP FEP ECVP VP CCVP VP FEP CCVP VP
$ 130 $ 100 ¢ 100 ¢ 130 ¢ 100 ¢ 130 ¢ 100 ¢ 100 $130 | ¢100 | &100 | »130 @100 $ 130 ¢ 100 ¢ 100 bl
EE ‘ i E (m) (m) (m) (m) (m) (m) (m) (m) @) | (& | @ | @ | (ED) ({&@) ({&@) ({&)
L-1 ~ L-2 40.71 2 5
E1 28.50 12.21 81.42 203.55 4 10
L-2 ~ L-3 4255 4 5
E2 29.79 12.77 170.20 212.75 8 10
L-3 ~ L-5 54.68 4 5
E2 38.28 16.40 218.72 273.40 8 10
L-5 ~ L=7
E1
L-7 ~ L-9
E1
L-9 ~ L-10
E3
L-10 ~ L-12
=
L-12 ~ L-14
E1
L-14 ~ L-16
E1
L-16 ~ L-17
E1
L-17 ~ L-18
E4
L-18 ~ L-19
E4
(L ]
N ET - - - 470.34 689.70 - - - - - 20 30 - -




ﬁ-’l:E ﬁléﬂﬁtgl KE 212
HER B IR (B N ERHERE)

EE i & (R=5.0) FOrRY—=T RILIIR (GE E;ET.?D* o
nmE=S LR ECVP VP FEP ECVP VP CCVP VP FEP CCVP VP
¢ 130 ¢ 100 ¢ 100 @130 ¢ 100 ¢ 130 ¢ 100 ¢ 100 @130 | ¢100 | 100 @ @130 @ 100 ¢ 130 ¢ 100 ¢ 100 1
EE ‘ HE (m) (m) (m) (m) (m) (m) (m) (m) (&) (&) (1&) (&) (&) (f&) (&) (&)
R-1 ~ R-2 42.95 3 6
ES 30.07 12.89 128.85 257.70 6 12
R-2 ~ R-3 39.57 4 6
E6 27.70 11.87 158.28 23742 8 12
R-3 ~ R-5 60.34 3 5
E7 42.24 18.10 181.02 301.70 6 10
R-5 ~ R-7
E7
R-7 ~ R-9
E7
R-9 ~ R-10
E3
R-10 ~ R-11
E6
R-11 ~ R-12
E7
R-12 ~ R-13
E1
R-13 ~ R-15
E1
R-15 ~ R-17
E1
R-17 ~ R-18
E1
R-18 ~ R-18
E3
R-18 ~ R-19
E1

[R 1]




#f-’l:E ﬁliﬂigl KE 212

HHEFE IR (BN EEFRED)
EE HH & (R=5.0) BHORR)—T RIJLIIR (GE E;ET.?D* L
nMES EE ECVP VP FEP ECVP VP CCVP VP FEP CCVP VP
¢ 130 ¢ 100 ¢ 100 ¢ 130 ¢ 100 ¢ 130 ¢ 100 ¢ 100 ¢ 130 ¢ 100 ¢ 100 ®130 | ¢$100 ¢ 130 ¢ 100 ¢ 100 bEi]
EE ‘ & (m) (m) (m) (m) (m) (m) (m) (m) (&) (&) (&) (&) (1&) (1&@) (1@) (18)
IN E - - - 468.15 796.82 - - - - - 20 34 - - -




ﬁ-’l:E Eléﬂﬁtgl KE 212
HER B IR (B N ERHERE)

EE i & (R=5.0) FOrRY—=T RILIIR (GE Ejé:.?n* L
mEs EE ECVP VP FEP ECVP VP CCVP VP FEP CCVP VP
® 130 ® 100 100 130 100 130 100 ®» 100 ®130 | $100 | 4100 = 130 ¢ 100 130 ®» 100 ® 100 &
EE ‘ B E (m) (m) (m) (m) (m) (m) (m) (m) (@) | (& | (@ | (@) | (&) ({&@) ({&) ({&)
L-2 ~ R-2 5.80 3 3
-1 406 1.74 17.40 17.40 6 6
L-9 ~ R-10
FE-2
(€5: 119
N E - - - 17.40 17.40 - - - - - 6 6 - -
& &t - - - 955.89 1,503.92 - - - - - 46 70 - -
$ 130 100 ®100 | FEP® 130 | FEP ¢ 100
ERBERT - - - 286.60 286.60




SR T S &= (,

IR E R BIEEFRED)
B HE(R=5.0) TWPARE | 2541 FHRRY—T N
mES ER FAE PV BD SE FAE PV BD FAE PV BD FAE PV BD &
$150 | @75 @50 | $250 = 200 [ $50 | $30 | 150 [ $75 | 50 | $250 = 200 | $250 @ 200 | $250 |« 200 | $150| $75 @ H50 | $p250 H200|p150| $75 $50|h250 200
BE #E | m | m | m | m  m | m m | m | m m | m m | @ @@ @@ @@ @@ | e @@ | @ | e @) | dE) | &)
L-1 ~ L2 40.71 1 2 1 5 5 1 2 1 18) | 4¢@) 2(1&)
T1 2850 12.21| 2850 | 56.99 2850 | 142.49 | 14249 | 1221 | 2443 12.21 2 1 2 4 2 24 | 96 48
-2 ~ L4 67.77 1 2 1 5 5 1 2 1 1(8) | 4¢f@) 2(1&)
Ti 4744 2033( 4744 | 9488 4744 | 237.20 | 237.20 | 20.33 | 40.66 20.33 2 1 2 4 2 40 | 160 80
L-4 ~ L5 30.00 1 2 1 5 5 1 2 1 1) | 4¢@) 2(1&)
Ti 2100, 9.00[ 21.00 | 42.00 21.00 | 105.00 10500 | 9.00 | 18.00 9.00 2 1 2 4 2 17 | 68 34
L-5 ~ L-8 1 2 1 5 5 1(18) | 4(f&D 2(1&)
T1
L-8 ~ L-9 1 2 1 5 5 1(f&) | 4(1@) 2(1@)
Ti
L-9 ~ L1 1 1 5 5 CE 2(f&)
T2
L-11  ~  L-13 1 1 5 5 112D 2(1&)
T2
L-13 ~  L-15 1 1 5 5 1(8@) 2(f&)
T2
L-15 ~  L-18 1 1 5 5 1(f8) 2(1&)
T2
L-18 ~  L-19 1 1 5 5 1(f&) 2(1&)
T2
(D!
I &t 138.48 96.94 | 193.87 - - 96.94 | 484.69 | 484.69 | 41.54| 83.09 - - 41.54 - 6 - 3 6 12 - 6| 81| 324 - - | 162




SR T & = (CFHE
B E R GBIEERFIRED)

faran £ n= 7R)'/I\IEII-'—E:T'—E — > b o —— #Eqﬁ
EE & (R=5.0) O— AR 8 AZALE FHRR)—D GEE/167%E
wES ER FAE PV BD SPE FAE PV BD FAS PV BD FAS PV BD

¢ 150 b 75 ¢ 50 $250 @200 $ 50 ¢ 30 ¢ 150 b75 ¢ 50 $250  $200 | ¢250 | 200 | $250 | 200 [ p150| ¢75 | $50 | $250 200|150 475 50 (250 ¢ 200

E%\E% (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) | (X)) | (&) | (X | (X)) | (B | &) | ‘&) | (& | dED | &) [ (&) | (&) | (&) | (&)

R-1 ~ R-2 42.95 1 1 5 5 1 1 1(1@) 2(&)
T2 30.07| 12.89 30.07 30.07 | 150.33 | 150.33 | 12.89 12.89 2 1 2 2 25 50

R-2 ~ R-4 67.80 1 1 5 5 1 1 1({&) 2(1@)
T2 4746, 20.34| 47.46 4746 | 237.30 | 237.30 | 20.34 20.34 2 1 2 2 40 80

R-4 ~ R-5 31.89 1 1 5 5 1 1 1(#) 2(1@)
T2 2232 957 2232 2232 | 11162 | 11162 | 9.57 9.57 2 1 2 2 19 38

R-5 ~ R-8 1 1 5 5 1(1@) 2(&)
T2

R-8 ~ R-10 1 1 5 5 1(1&) 2(1&)
T2

R-10 ~ R-12 1 1 5 5 1(1&) 2(1@)
T2

R-12 ~ R-14 1 1 5 5 1(1@) 2(1&)
T2

R-14 ~ R-16 1 1 5 5 1(1&) 2(1&)
T2

R-16 ~ R-18 1 2 1 5 5 1(18) | 4¢{E) 2(&)
T1

R-18 ~ R-19 1 1 5 5 1(1@) 2(&)
T2

(R fa]




SR TEHEE (FHE

IR E R BIEERFRED)
R E — . 5 ==
EE B (R=5.0) TUTEER | 2541 FHRRY—T LS Sy
wES ER FAE PV BD SPE FAE PV BD FAS PV BD FAS PV BD

$150 | @75 = 50 | $250 200 | $50 | 30 | $150 [ ¢75 | H50 | $250 200 | $250 200 | $250 = 200 | $p150| 75  $50 | $p250 $200|p150| 75 50 |p 250 ¢p200
BE  #E | m | (m  m | m  m | m  m | m | m m | m m | @ | @E | dE] @ @@ dE | dE|dE dE | | U

N E 142.64 99.85 - - - 99.85 | 499.25 | 499.25 42.80 - - - 42.80 - 6 - 3 6 - - - 6 84 - - - | 168




R T - of

R E R GBS ERIRED)
EE & (R=5.0) TWPARE | 2541 FHRRY—T N
mES ER FAE PV BD SE FAE PV BD FAE PV BD FAE PV BD &
$150 | ¢75 @50 | $250 | 4200 | 50 @ $30 | p150 | $75 | 50 | $250 | $200 [ $250 @ H200 | 4250 | 200 | 4150 | $75 | 450 | $p250 | 200|150 ¢75 50 |d 250 ¢ 200
EE \ HE | (m) | (m) (m) | (m) | (m) (m) | (m) | (m) (m) | (m) | (m) (m) | (X)) | (X)) [ (X) (X)) [ (B | & @ (& | @& J@ | d@E| @  G&E| & &
L-2 ~  R-2 5.80 1 1 1 1 2@)  1(f@)
HE-1 406 174 4.06 4.06 1.74 1.74 2 2 6 3
L-9 ~ R-10 2 1@ | 4¢&)
-2
L-18 ~ R-18 1 1 1(8) | 1(@)
1-3
(#&#rER)
IN 5 5.80 - 4.06 4.06 - - - - - 1.74 1.74 - - - - - - - 2 2 - - - 6 3 - -
& &t 196.79 | 197.93 4.06 - 196.79 | 98394 98394 | 8434 | 84.83 1.74 84.34 12 6 12 14 2 - 12| 165| 330 3 - 330
$150 | @75 ®50 | $250  $200 | SHOE
(BD200) 50X 5,030 x5 =  281.12
(BD250) 50 X 8,p 30 X 6 =
ERBET 281.12 | 144.28 5.80 - 281.12 (BD250)»50 X 9, p 30 X 2 =




S 1. FEmiFEERO LX)

THXIY T R ol Al B Hifr B
1) | E12) (L~L3) (L~14) (L~L5)
+T PEHI T PEHI (1) m 0
- m 0
PR m 171
RS R T Yl m 0
% m 0
MR AL m 108
MR RC-40 m 0.0
AR E m2 210
B AL T m 51
Pk T 2L B300-H300 m 185.2
B300-H400 m 0.0
B300-H500 m 0.0
B400-H500 m 24.3
B500-H500 m 52.2
H i ) EAE B300-H300 m 7.2
B300-H500 m 0.0
B500-H500 m 0.0
P B500=H500 fosy 90
B300=-H300 254
PRI m 2248
e FeAAR m 109
BRI LR n 1o
el R A & 4 D300 m 186
ey iad i 25-0
BHF Vué-150 i 388
e ol
e 00
e ol
S e 1 10
IREE- VN B500-L500-H600 1 1.0
275 K B500-1.500-H600 U 0.0
3K B700-1.700-H900 U 0.0
4o ER K B700-1.700-H1000 U 0.0
55Kk B700-1.700-H800 U 0.0
BRIl S T m 0.0




BEREER 2

THEXS T il Al Bl W M B
1) L) (L~L3) r~n4) (L~L5)
MR L (1) [0 1.0
A EERE L (2) | Lo 1.0
B 1. (3) n 0.0
AR L (4) | A 0.0
I e 1. (1) U 0.0
B Vu ¢ 500 . m 0.0
Pt Vu ¢ 300 m 0.0
HFIRSAT AN N—h 360 HET . m 0.0
e PREDER g ks w | 10953
del; [E S u _
R LRy +=3bem £ 13184
HREHED HET e - 3979
T HEITyY¥Ty t=10ecm | 327.9
T AN —E # t=10cm nf 327.9
@4;“;_}-;%%@%#1: ‘
e BRI = £ 156
iy EEEENS = 10esm | A 156
R AT 4=30em E 156
S Al
e BRI = £ 0.0
L E S u _
AR t=15em = 00
PR LRSS 5 4=20em = 6
—— | |
RES95H iz‘;;%%; BRI = £ 0.0
L E S u _
AR +=25em = 00
[ Hi e A FEE AsPHREEE = = 18
AR L FEI79v%7V t=15¢m of 11.8
TANE—)B > t=10cm nd 11.8




EkihER 3

N 4
o I o) ety B & &\ W 0 E
E3EEIRT #JE T AsFRAFRIEt=3cm m2 40.0
b JiE A T B (M—40) t=17cm | m2 40.0
TERE L BAITyv4Tv t=15cm m2 40.0
HERE T AN ) A ERE T H=0.5m m 65.4 | K H BRI m0#
Ui H=0.7 m 0.0
" H=0.8 m 11.8
7V AL fERE m 0.0
AU h e T oozl =] FEAN B 36 W
R RC—40 t=15em g 107
i +=10mm = 63
YRR g —h 18N/mm2 i T2 Ry
I = 97.3
R RC—40t=20em g 60-0
LEIHAT Ty AP=18 # 629
B SP345- D16 ke 484
LBt b T RS H=09 4 10 ERER39E
e AL {& 0
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